
January 25, 2021

Give me 5!
You have 5 minutes to answer these 5 questions. 

In the back of your journal, write the date. 

Try your best and show all of your working out (making sure 
your final answer is clear).

If you finish, check your working.

Can you beat your best score? 
Can you beat your best time?
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Give me 5!
1. 23 +38 = 61

2. 609 - 10 = 599

3. 56 ÷ 7 = 8

4. 123 x 4 = 492
5. ? x 5 = 95
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The teacher has 63 stickers that they share equally between 
three pupils.  

The children think they will get 22 stickers each.

Use the partitioning method to work out if the children are 
correct.
Explain your answer. 

Use <, > or = to compare these calculations.

1.)

2.)

3.)

4.)
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The teacher has 63 stickers that they share equally 
between three pupils.  

The children think they will get 22 stickers each.

Use the partitioning method to work out if the children 
are correct.
Explain your answer. 

Use <, > or = to compare these calculations.

1.)

2.)

3.)

4.)

The children are not correct because 63 ÷ 3 = 21. 
30 ÷ 3 = 10; 33 ÷ 3 = 11; 10 + 11 = 21. They will get 21 
stickers each. 

Jane should have partitioned 42 into 30 and 12 
because both 30 and 12 are divisible by 3.  She has 
incorrectly placed one ten into the ones column. She 
could exchange this ten for ten ones and then share 
the 12 ones equally between 3. 

I know the answer would 
need to be in the 8 times 
tables. 
I can see that one of the 
numbers used was 16, so 
my answer would need 
to end in a 6 and be in 
the 8 times table. 
My answer could either 
be 56 or 96


